Svenska Bridgeférbundet
IAF - SM Lag semifinal, 4:2

IMP o6ver faltet, 60 bord, 120 par. Antal brickor: 12.

Plac

Poang

3.37
3.22
2.86
2.57
2.52
2.49
2.32
2.06
2.06
2.04
1.93
1.83
1.78
1.76
1.74
1.65
1.64
157
1.56
1.52
151
1.47
1.23
1.17
1.15
1.06
1.04
1.03
1.00
0.94
0.93
0.91
0.89
0.88
0.88
0.83
0.82
0.74
0.72
0.68
0.66
0.64
0.62
0.58
0.56
0.51
0.48
0.41
0.41
0.31
0.30
0.28
0.19
0.18
0.16
0.12
0.12
0.07
0.06
0.01
-0.01
-0.06
-0.07
-0.12
-0.12
-0.16
-0.18
-0.19
-0.28
-0.30
-0.31
-0.41
-0.41
-0.48
-0.51
-0.56
-0.58
-0.62
-0.64
-0.66
-0.68
-0.72
-0.74
-0.82
-0.83

Namn

Bjorn Sorling - Bo Roos

Jonas Petersson - Per-Arne Karlsson
Stefan Asgarden - Géran Selldén
Agneta Oppenstam - Hakan Nilsson
Jan Selberg - Olle Wademark

Cecilia Rimstedt - Magnus Eriksson
Andreas Westman - Bo-Henry Ek
Peter Olofsson - Bjorn Ohlsson
Henrik Malmsten - Klaus Claassen
Lars Ramquist - Frank Westman

Bo Sundell - Alexander Sandin
Marten Gustawsson - Leif Bremark
Bengt Nilsson - Bert Jehpsson

Goran Hammarstrom - Mikael Arnberg
Leif Norén - Anders Enstrém

Pierre Carbonnier - Hakan Tjarnemo
Daniel Eriksson - Rolf Scherdin
Mikael Lindblom - Jan Andersson
Roger Ahlbom - UIf Westlin

Emil Tibblin - Staffan Hedman

Ronny Ovesson Ejnell - Jan-Erik Asmo
Stefan Jonsson - Hakan Johansson
Johan Karlsson - Magnus Hultman
Bjorn Wenneberg - Thomas Ivarsson
Henrik Wegnelius - Peter Gérnandt
Thomas Samuelsson - Tage Bengtsson
Mattias Lindgren - Magnus Melin
Lena Johansson - Leif Johansson
Petra Svantesson - Lennart Johansson
Andreas Kényves - Borje Rudenstal
Kent Lundstrém - Mattias Forss

Hans Olsson - Bengt Palsson

Bjorn Fallenius - Mats Nilsland

Pontus Karlsson - Peggy Nyholm

Jan Brannvall - Hans Lerner

Urban Finnsson - Pierre Thunstrém
David Wrang - Thomas Wrang

Simon Hult - Simon Ekenberg

Peter Carlsson - Mats Axdorph

Peter Johansson - Lars Kjellersson
Daniel Svensson - Jérgen Neldemo
Anders Fryklund - Valter Johansson
Lennart Fredriksson - Torkel Petersson
Adam Kovasznay - Kjell Evensen
Krister Ekudd - Mikael Blomqvist
Torgild Olsson - Jan Nilsson

Fredrik Mirhag - Par Andersson
Goran Lindberg - Linus Dahlstrom
Viktor Andréasson - Christian Leo
Johnny Blid - Erik Fryklund

Bjorn Davidsson - Dan Johansson
Eric Arvidsson - Karl Asplund

Anders Erikson - Peter Karlsson
Johnny Petersson - Henrik Séllberg
Gullvi Hogberg - Per Larsson

Tom Gérds - Nichlas Eliazohn

Jonas Dahlgren - Conny Gustafsson
Soéren Lennartsson - Per-Olof Larsson
Fredrik Wickstrom - Folke Abrahamsson
Niklas Warne - Krister Ahlesved
Gunnar Sjokvist - Per Bretz

Leif Beckman - Sten-Ake Thunberg
Per Séderberg - Jakob Sondén

Henry Franzén - Bengt-Goran Olofsson
Lars Goldberg - UllaBritt Goldberg
Peder Hagg - Leif Hansson

Johan Erlandsson - Alf Roos

Arne Jordestedt - Leif Andréasson
Per Bérgesson - Anders Palmgren
Leif Lysebring - Lars Wallmark

Peter Svensson - Michael Nilsson
Ingemar Andersson - Thomas Winther
Borje Dahlberg - Robin Bjorkstrand
Hakan Lindblom - Magnus Ekman
Jan Gutenwik - Fredrik Jarlvik
Kenneth Wallin - Pasi Kallio

Markus Hedstrom - Per Schullstrom
Hakan Straaf - Mats Sjoberg
Sven-Erik Hallkvist - Carina Hallkvist
Arne Larsson - Tobias Torngvist

Leif Holmgren - Kjell Holmgren

Hans Kvick - Bjérn Alenfalk

Robert Frank - Johan Goransson
Jan-Olof Henriksson - Hugo Nilsson
Lars Ornberg - Tomas Linder
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MID
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86 S1 -0.88 Leif Trapp - Olle Axne 12180 8354
87 Q203 -0.88 Bengt Johansson - Anders Ihalainen 1777 4892
88 12 -0.89 Kaj Toivosson - Jérgen Lantz 1673 1612
89 E3 -0.91 Nils Ahlén - Eva Gunnarsson 1169 12598
90 G2 -0.93 Nicklas Widhja - Stefan Lilja 25146 20858
91 N103 -0.94 Thomas Karlsson - Morgan Svensson 8958 6177
92 P103 -1.00 Michael Claesson - Bernt Sigvardsson 656 628
93 J102 -1.03 Johan Bennet - Thomas Andersson 93 15537
94 D301 -1.04 Rune Pettersson - Sune Fager 3141 3146
95 H103 -1.06 Johnny Ostberg - Christer Bjaring 2051 3545
96 L103 -1.15 Peter Strand - Hans-Olov Gustafsson 2864 5401
97 K1 -1.17 Lars-Inge Rehnstréom - Roland Johansson 6717 14941
98 R101 -1.23 Kjell Staffas - Jan Matsson 34308 1239
99 0201 -1.47 Johan Séfsten - Ida Gronkvist 35452 31083
100 J303 -1.51 Roger Nyman - Mikael Olsson 7522 8561
101 T302 -1.52 Hans Akerman - Anders Sj6stedt 15204 13489
102 M202 -1.56 Roland Gyllenhammar - Peter Ventura 252 3715
103 D103 -1.57 Jonas Engstrém - Daniel Sivelind 11389 12589
104 C201 -1.64 Erik Franzén - Jérgen Claesson 76 28214
105 P302 -1.65 Lars Kennethsson - Per Jansson 17074 2485
106 T103 -1.74 Jonas Gustafsson - Olle Sandstrém 2414 88848
107 Gl -1.76 Agneta Svahn - Mathias Bedrot 626 11709
108 A3 -1.78 Thomas Therkelson - Lars-Ake Gustafsson 4805 17359
109 K202 -1.83 Pontus Silow - Erik Bergengren 87294 51648
110 M3 -1.93 Lars Lundqyvist - Bjorn Andersson 6692 14660
111 L301 -2.04 Peter Kennerfalk - Lena Lundqvist 7397 25982
112 D102 -2.06 Micael Svensson - Peter Arlegard 2383 4024
113 F301 -2.06 Lars-Ake Nilsson - Jan Nilsson 12667 4501
114 Q201 -2.32 Johannes Matsson - Kenneth Karlsson 52882 625
115 A201 -2.49 Henrik Johansson - Markus Bengtsson 15131 89654
116 G3 -2.52 Johnny Ivarsson - Sten Johansson 11016 47019
117 0203 -2.57 Sven Barbus - Per Jephson 630 481
118 F102 -2.86 Sten Oman - Bengt Alrud 10766 4373
119 M1 -3.22 Tommy Gullberg - Anders Morath 9047 4664
120 E202 -3.37 Jaenita Johansson - Hans Brolin 7598 7596
13 48762 Basta kontrakt 14 «E54 Basta kontrakt
Nord v76 5v O =-650 Ost v75 24 S =90
Alla 4953 Ingen ¢+ E7654
#EK65 & ¢ v & NT #1076 & ¢ v & NT
4 KD3 # EKn9 N7 2244 4 KKn10 4 D963 N7 7 666
vD843 vEKn105 S72244 v9862 v DKnl0 S 87 6 6 6
¢ ED864 ¢ K72 O6 11118 8 ¢ K83 ¢ DKn2 056767
#Kn 2943 V 6 11118 8 #KKn4  #532 V56767
41054 4872
v K92 v EK43
¢+ Knl0 + 109
£D10872 &#ED98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D101 D301 3NV-1 *A 100 765.0 -765.0 S2 S202 1IN S +2 v6 150 262.0 -262.0
G2 G202 5¢ O= +J -600 105.0 -105.0 Al A201 INS+1 v6 120 243.0 -243.0
A3 A203 4y O = *8 -620 47.0 -47.0 A3 A203 INN +1 vQ 120 243.0 -243.0
F101 F301 4v V= *A -620 47.0 -47.0 F101 F301 2# N +1 v2 110 200.0 -200.0
Al A201 4v V +1 *A -650 -13.0 13.0 11 1201 24 O -2 *T 100 184.0 -184.0
C1 C201 4v O+1 *2 -650 -13.0 13.0 P103 P303 24 O-2 *T 100 184.0 -184.0
El E201 4v V +1 46 -650 -13.0 13.0 o1 0201 INN-= vQ 90 183.0 -183.0
Gl G201 4v V +1 &K -650 -13.0 13.0 A2 A202 INN= vQ 90 183.0 -183.0
11 1201 4v V +1 SA -650 -13.0 13.0 Cc2 C202 INN= vQ 90 183.0 -183.0
K1 K201 4v O +1 a4 -650 -13.0 13.0 G2 G202 1¢ S+1 v6 90 183.0 -183.0
M1 M201 4v O +1 +J -650 -13.0 13.0 C3 C203 INN= vQ 90 183.0 -183.0
o1 0201 4v V +1 &K -650 -13.0 13.0 G3 G203 INS= v9 90 183.0 -183.0
Q1 Q201 4v V +1 *A -650 -13.0 13.0 K3 K203 INN= vQ 90 183.0 -183.0
S1 S201 4v V +1 *A -650 -13.0 13.0 03 0203 INS= v9 90 183.0 -183.0
A2 A202 4y O +1 v2 -650 -13.0 13.0 S3 S203 INS= v3 90 183.0 -183.0
Cc2 C202 4y O+1 *2 -650 -13.0 13.0 B102 B302 INN= 43 90 183.0 -183.0
E2 E202 4v O +1 *2 -650 -13.0 13.0 N102 N302 INN= vQ 90 183.0 -183.0
12 1202 4v V +1 SA -650 -13.0 13.0 P102 P302 INN= vQ 90 183.0 -183.0
K2 K202 4v O +1 a4 -650 -13.0 13.0 H103 H303 2¢ N= vl] 90 183.0 -183.0
M2 M202 4v O +1 *J -650 -13.0 13.0 El E201 INN-1 vQ -50 -38.0 38.0
02 0202 4v V +1 *A -650 -13.0 13.0 Gl G201 INN-1 46 -50 -38.0 38.0
Q2 Q202 4v O +1 +J -650 -13.0 13.0 S1 S201 INS-1 oK -50 -38.0 38.0
S2 S202 4v O +1 ¢J -650 -13.0 13.0 E2 E202 INS-1 v9 -50 -38.0 38.0
C3 C203 4v O +1 46 -650 -13.0 13.0 12 1202 INN-1 43 -50 -38.0 38.0
E3 E203 4v V +1 *A -650 -13.0 13.0 K2 K202 INN-1 vQ -50 -38.0 38.0
G3 G203 4v O +1 *J -650 -13.0 13.0 13 1203 INN-1 vQ -50 -38.0 38.0
13 1203 4v V +1 *A -650 -13.0 13.0 Q3 Q203 INN-1 a5 -50 -38.0 38.0
K3 K203 4v O +1 ¢J -650 -13.0 13.0 H101 H301 2¢ N-1 vQ -50 -38.0 38.0
M3 M203 4y O +1 +J -650 -13.0 13.0 Ji01l J301 INN-1 46 -50 -38.0 38.0
03 0203 4v O +1 +J -650 -13.0 13.0 L101 L301 INN-1 vQ -50 -38.0 38.0
Q3 Q203 4v O +1 ¢J -650 -13.0 13.0 P101 P301 INS-1 v6 -50 -38.0 38.0
S3 S203 4v O +1 a2 -650 -13.0 13.0 R101 R301 2N S-1 v6 -50 -38.0 38.0
B101 B301 4v O +1 *2 -650 -13.0 13.0 D102 D302 INN-1 46 -50 -38.0 38.0
H101 H301 4v O +1 +J -650 -13.0 13.0 F102 F302 INN-1 46 -50 -38.0 38.0
Ji01 J301 4v O +1 »2 -650 -13.0 13.0 H102 H302 INS-1 oK -50 -38.0 38.0
L101 L301 4v O +1 *3 -650 -13.0 13.0 J102 J302 2¢ S-1 v6 -50 -38.0 38.0
N101 N301 4v V +1 *A -650 -13.0 13.0 L102 L302 INN-1 3 -50 -38.0 38.0
P101 P301 4v V +1 *A -650 -13.0 13.0 R102 R302 INN-1 *2 -50 -38.0 38.0
R101 R301 5v V= *A -650 -13.0 13.0 B103 B303 INN-1 43 -50 -38.0 38.0
T101 T301 4v O +1 +J -650 -13.0 13.0 D103 D303 INN-1 *5 -50 -38.0 38.0
B102 B302 4v O +1 +3 -650 -13.0 13.0 N103 N303 INN-1 +Q -50 -38.0 38.0
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D102 D302 4v O +1 *J -650 -13.0 13.0 R103 R303 1INN-1 a3 -50 -38.0 38.0
H102 H302 4v O +1 *J -650 -13.0 13.0 T103 T303 INN-1 v3 -50 -38.0 38.0
J102 J302 4v V +1 SA -650 -13.0 13.0 C1l C201 INS-2 v6 -100 -132.0 132.0
L102 L302 4v V +1 &A -650 -13.0 13.0 K1 K201 1NN -2 vQ -100 -132.0 132.0
N102 N302 4y O +1 *J -650 -13.0 13.0 M1 M201 1NN -2 vJ -100 -132.0 132.0
P102 P302 4v V +1 SA -650 -13.0 13.0 Q1 Q201 INN-2 vQ -100 -132.0 132.0
R102 R302 4v O +1 &A -650 -13.0 13.0 M2 M202 1IN S -2 v6 -100 -132.0 132.0
T102 T302 4v O +1 *J -650 -13.0 13.0 02 0202 INS-2 v9 -100 -132.0 132.0
B103 B303 4v O +1 *J -650 -13.0 13.0 E3 E203 2¢ S-2 v9 -100 -132.0 132.0
D103 D303 4v V +1 &A -650 -13.0 13.0 D101 D301 INS-2 v9 -100 -132.0 132.0
F103 F303 4y O +1 *J -650 -13.0 13.0 F103 F303 INS-2 v6 -100 -132.0 132.0
H103 H303 4v O +1 *J -650 -13.0 13.0 J103 J303 INS-2 v8 -100 -132.0 132.0
J103 J303 4v O +1 &2 -650 -13.0 13.0 Q2 Q202 INN-3 vQ -150 -209.0 209.0
L103 L303 4y O +1 *J -650 -13.0 13.0 M3 M203 1NN -3 v6 -150 -209.0 209.0
N103 N303 4v O +1 *J -650 -13.0 13.0 B101 B301 1NN -3 vQ -150 -209.0 209.0
P103 P303 4v V +1 &K -650 -13.0 13.0 N101 N301 INS-3 v9 -150 -209.0 209.0
R103 R303 4v O +1 *J -650 -13.0 13.0 T101 T301 INS-3 v9 -150 -209.0 209.0
T103 T303 4v O +1 *J -650 -13.0 13.0 T102 T302 INS-3 v9 -150 -209.0 209.0
F102 F302 44D S-3 &K -800 -249.0 249.0 L103 L303 INS-3 v9 -150 -209.0 209.0
15 « EK107 Basta kontrakt 16 « 87 Basta kontrakt
Syd v D1087 6NT S = 1440 Vast v K732 5# N D -3-500
NS + K10 oV +6
973 & ¢ v & NT &#DKn9753 & ¢ v &N
& 64 983 N 117 101212 & EKD103 4 Knb2 N86 322
v Kn96532 vK S 117 101212 v ED95 v 10864 S86 322
¢+ D54 ¢+ Kn98632 016311 ¢ K7 9432 O 5 7 101010
&K38 &D54 V16311 &E6 &K4 V 5 7 101010
& DKn52 « 964
vYE4 vKn
¢ E7 + EDKn1085
&#EKNn1062 #1082
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A2 A202 64 S= v5 1430 728.0 -728.0 B103 B303 2¢ V-2 L JO) 200 713.0 -713.0
E2 E202 64 S = v3 1430 728.0 -728.0 Al A201 5v O-1 &2 100 663.0 -663.0
S3 S203 64 S= v3 1430 728.0 -728.0 03 0203 54 V-1 +6 100 663.0 -663.0
F101 F301 64 S= v5 1430 728.0 -728.0 E2 E202 1e V +1 +6 -110 539.0 -539.0
S2 S202 5¢DO-5 vA 1100 501.0 -501.0 R103 R303 3¢ S-3 s A -150 488.0 -488.0
13 1203 44 S +3 v6 710 55.0 -55.0 E1l E201 2e V +2 *4 -170 472.0 -472.0
M2 M202 3N N +3 vK 690 3.0 -3.0 K2 K202 34 V +1 +6 -170 472.0 -472.0
C3 C203 3N N +3 vK 690 3.0 -3.0 L101 L301 34 O +1 +6 -170 472.0 -472.0
Q3 Q203 3NN +3 vK 690 3.0 -3.0 01 0201 5#DN-3 vT -500 56.0 -56.0
B101 B301 3NN +3 +8 690 3.0 -3.0 12 1202 5&#D N -3 v6 -500 56.0 -56.0
B102 B302 3N N +3 vK 690 3.0 -3.0 M2 M202 5&D S -3 s A -500 56.0 -56.0
N102 N302 3N N +3 vK 690 3.0 -3.0 13 1203 5&D N -3 vT -500 56.0 -56.0
Al A201 44 S+2 a4 680 -1.0 1.0 S3 S203 5#D N -3 a5 -500 56.0 -56.0
Gl G201 44 S+2 *4 680 -1.0 1.0 D101 D301 5#D N -3 46 -500 56.0 -56.0
01 0201 44 S+2 ¢4 680 -1.0 1.0 J101 J301 5&D N -3 a2 -500 56.0 -56.0
Q1 Q201 44 N +2 +9 680 -1.0 1.0 N101 N301 5#D N -3 vT -500 56.0 -56.0
S1 S201 44 S+2 v3 680 -1.0 1.0 P101 P301 5&#D N -3 a2 -500 56.0 -56.0
Cc2 C202 44 N +2 v3 680 -1.0 1.0 H102 H302 5#D N -3 a4 -500 56.0 -56.0
12 1202 44 S +2 ¢4 680 -1.0 1.0 P102 P302 5&#D S -3 oA -500 56.0 -56.0
K2 K202 4 N +2 vK 680 -1.0 1.0 T103 T303 5#D N -3 a5 -500 56.0 -56.0
E3 E203 44 S +2 v4 680 -1.0 1.0 Gl G201 4v O= &2 -620 -111.0 111.0
J101 J301 44 S +2 v6 680 -1.0 1.0 11 1201 4v V= +6 -620 -111.0 111.0
L101 L301 4 N +2 49 680 -1.0 1.0 K1 K201 4e V= +6 -620 -111.0 111.0
N101 N301 44 N +2 +8 680 -1.0 1.0 M1 M201 4e V= +6 -620 -111.0 111.0
P101 P301 4e N +2 vK 680 -1.0 1.0 Q1 Q201 44 V= +6 -620 -111.0 111.0
R101 R301 44 S +2 v6 680 -1.0 1.0 S1 S201 44 V= +6 -620 -111.0 111.0
J102 J302 44 S +2 v2 680 -1.0 1.0 A2 A202 4e V= +6 -620 -111.0 111.0
L102 L302 44 S +2 ¢4 680 -1.0 1.0 Q2 Q202 4v O= &2 -620 -111.0 111.0
R102 R302 44 N +2 v6 680 -1.0 1.0 S2 S202 4v O= vJ -620 -111.0 111.0
B103 B303 44 N +2 +9 680 -1.0 1.0 C3 C203 4e V= +6 -620 -111.0 111.0
F103 F303 44 S +2 &K 680 -1.0 1.0 K3 K203 4v O = &2 -620 -111.0 111.0
H103 H303 44 N +2 +3 680 -1.0 1.0 M3 M203 4e V= +6 -620 -111.0 111.0
J103 J303 44 S+2 v6 680 -1.0 1.0 Q3 Q203 44 V= +6 -620 -111.0 111.0
L103 L303 44 S +2 v3 680 -1.0 1.0 B101 B301 4e V= +6 -620 -111.0 111.0
P103 P303 44 S +2 v5 680 -1.0 1.0 F101 F301 4v O= &2 -620 -111.0 111.0
R103 R303 44 S +2 v6 680 -1.0 1.0 H101 H301 44 V= +6 -620 -111.0 111.0
T103 T303 44 S+2 v6 680 -1.0 1.0 T101 T301 44 O= *A -620 -111.0 111.0
E1l E201 44 S+1 v3 650 -54.0 54.0 B102 B302 4e V= +6 -620 -111.0 111.0
11 1201 44 S +1 v3 650 -54.0 54.0 D102 D302 44 V= +6 -620 -111.0 111.0
M1 M201 44 N +1 v6 650 -54.0 54.0 F102 F302 4v O= &2 -620 -111.0 111.0
G2 G202 44 S+1 v3 650 -54.0 54.0 J102 J302 4y O = A -620 -111.0 111.0
02 0202 44 S+1 v6 650 -54.0 54.0 L102 L302 4v O = *A -620 -111.0 111.0
Q2 Q202 44 S+1 EN| 650 -54.0 54.0 N102 N302 44 V= +5 -620 -111.0 111.0
K3 K203 44 S +1 v2 650 -54.0 54.0 T102 T302 4e V= +6 -620 -111.0 111.0
M3 M203 4 S +1 v3 650 -54.0 54.0 D103 D303 4v O = *A -620 -111.0 111.0
03 0203 44 S+1 v3 650 -54.0 54.0 H103 H303 4v O = *2 -620 -111.0 111.0
D101 D301 44 S+1 v6 650 -54.0 54.0 J103 J303 4e V= +6 -620 -111.0 111.0
H101 H301 44 S+1 v3 650 -54.0 54.0 L103 L303 4v V= +6 -620 -111.0 111.0
T101 T301 44 S+1 v3 650 -54.0 54.0 N103 N303 4v V= L JO) -620 -111.0 111.0
D102 D302 44 S +1 v3 650 -54.0 54.0 P103 P303 4e V= +6 -620 -111.0 111.0
H102 H302 44 S+1 ¢4 650 -54.0 54.0 Cc2 C202 3NV +1 &Q -630 -123.0 123.0
P102 P302 44 S+1 v3 650 -54.0 54.0 C1l C201 4v O +1 *A -650 -166.0 166.0
T102 T302 44 S+1 v6 650 -54.0 54.0 G2 G202 44 V +1 &Q -650 -166.0 166.0
D103 D303 44 S+1 v6 650 -54.0 54.0 A3 A203 54 V= &Q -650 -166.0 166.0
N103 N303 44 N +1 *2 650 -54.0 54.0 E3 E203 4v V +1 *Q -650 -166.0 166.0
Cl C201 44 S= v6 620 -109.0 109.0 G3 G203 44 V +1 +6 -650 -166.0 166.0
K1 K201 4 S= ¢4 620 -109.0 109.0 R101 R301 4v O +1 *A -650 -166.0 166.0
A3 A203 64 S-1 v3 -100 -757.0 757.0 F103 F303 44 O +1 +6 -650 -166.0 166.0
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G3 G203 64 S-1 v6 -100 -757.0 757.0 02 0202 3NO+2 *Q -660 -166.0 166.0
F102 F302 4v S-1 v3 -100 -757.0 757.0 R102 R302 5¢DN -4 s A -800 -373.0 373.0
17 «E973 Basta kontrakt 18 « D752 Basta kontrakt
Nord vKn 44 N =420 Ost v E82 34 S =140
Ingen + KDKn97 NS *7
&EDS8 & ¢ v & NT #D10963 & ¢ v & NT
46 & K4 N5 9 6 107 #9864 410 N8 6 6 97
vE1075 vKB843 S 595 107 vKKn754 D103 S866 97
¢ E102 ¢ 654 0837 35 *2 + DKn10985 O476 46
#K10764 #9532 V837 35 #EK8 »754 V476 46
& DKn10852 & EKKNn3
v D962 v96
+83 ¢+ EK643
&Kn »Kn2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E1l E201 44 N +1 v4 450 74.0 -74.0 E2 E202 5¢DV -4 .7 800 662.0 -662.0
S3 S203 44 N +1 &3 450 74.0 -74.0 o1 0201 3NS+1 *2 630 520.0 -520.0
H103 H303 44 N +1 *3 450 74.0 -74.0 Q1 Q201 3NS+1 *2 630 520.0 -520.0
Al A201 44 S= *8 420 14.0 -14.0 Al A201 44 S= A 620 519.0 -519.0
C1 C201 44 S= vA 420 14.0 -14.0 C1 C201 44 S= *2 620 519.0 -519.0
G1 G201 44 S= *7 420 14.0 -14.0 G2 G202 44 N= +Q 620 519.0 -519.0
11 1201 44 S= *4 420 14.0 -14.0 Q3 Q203 44 N= v3 620 519.0 -519.0
K1 K201 44 S= &4 420 14.0 -14.0 H101 H301 44 S= &K 620 519.0 -519.0
o1 0201 44 S= *4 420 14.0 -14.0 L101 L301 44 S= *2 620 519.0 -519.0
Q1 Q201 44 S= *6 420 14.0 -14.0 P102 P302 44 N= vQ 620 519.0 -519.0
S1 S201 44 N= *4 420 14.0 -14.0 T102 T302 44 N= vQ 620 519.0 -519.0
A2 A202 44 S= *A 420 14.0 -14.0 J103 J303 44 N= *J 620 519.0 -519.0
Cc2 C202 44 S= *A 420 14.0 -14.0 R103 R303 44 S= A 620 519.0 -519.0
E2 E202 44 N= &8 420 14.0 -14.0 M2 M202 4vDV -3 *6 500 416.0 -416.0
G2 G202 44 S= *4 420 14.0 -14.0 12 1202 3¢D O -2 aA 300 206.0 -206.0
12 1202 44 S= *4 420 14.0 -14.0 F101 F301 3vDV-2 *2 300 206.0 -206.0
K2 K202 44 N = &3 420 14.0 -14.0 L102 L302 3¢DO-2 s A 300 206.0 -206.0
M2 M202 44 S= *7 420 14.0 -14.0 N103 N303 3¢DO-2 aA 300 206.0 -206.0
02 0202 44 S= vA 420 14.0 -14.0 11 1201 34 N +1 v3 170 57.0 -57.0
Q2 Q202 44 N= &7 420 14.0 -14.0 E3 E203 34 N +1 v3 170 57.0 -57.0
S2 S202 44 S= *4 420 14.0 -14.0 Gl G201 3¢ O-3 oK 150 27.0 -27.0
A3 A203 44 S= vA 420 14.0 -14.0 B101 B301 4v V-3 .7 150 27.0 -27.0
C3 C203 44 N= vA 420 14.0 -14.0 K1 K201 34 N= *+Q 140 16.0 -16.0
E3 E203 44 S= vA 420 14.0 -14.0 02 0202 24 S+1 a4 140 16.0 -16.0
G3 G203 44 S= v5 420 14.0 -14.0 J101 J301 24 S+1 A 140 16.0 -16.0
13 1203 44 S= vA 420 14.0 -14.0 A2 A202 2¢DO-1 s A 100 -45.0 45.0
K3 K203 44 S= *4 420 14.0 -14.0 Q2 Q202 3¢ O-2 aA 100 -45.0 45.0
M3 M203 44 S= *4 420 14.0 -14.0 S2 S202 3¢ O-2 aA 100 -45.0 45.0
03 0203 44 S= &4 420 14.0 -14.0 M3 M203 3¢ O-2 s A 100 -45.0 45.0
Q3 Q203 44 S= 46 420 14.0 -14.0 D101 D301 3¢ O-2 aA 100 -45.0 45.0
B101 B301 44 S= &T 420 14.0 -14.0 P101 P301 3¢ O-2 aA 100 -45.0 45.0
D101 D301 44 N= v5 420 14.0 -14.0 F102 F302 3¢ O-2 s A 100 -45.0 45.0
F101 F301 44 S= &T 420 14.0 -14.0 H102 H302 3¢ O-2 aA 100 -45.0 45.0
H101 H301 44 N= *4 420 14.0 -14.0 N102 N302 3¢ O-2 aA 100 -45.0 45.0
J101 J301 44 S= &4 420 14.0 -14.0 D103 D303 3¢ O-2 s A 100 -45.0 45.0
L101 L301 44 N= *3 420 14.0 -14.0 L103 L303 3¢ O-2 aA 100 -45.0 45.0
N101 N301 44 N= *4 420 14.0 -14.0 D102 D302 3¢ O-1 aA 50 -108.0 108.0
P101 P301 44 S= &4 420 14.0 -14.0 M1 M201 44 S-1 A -100 -276.0 276.0
R101 R301 44 S= *7 420 14.0 -14.0 Cc2 C202 3NS-1 *2 -100 -276.0 276.0
T101 T301 44 S= vA 420 14.0 -14.0 A3 A203 44 S-1 A -100 -276.0 276.0
B102 B302 44 S= 46 420 14.0 -14.0 C3 C203 3NS-1 *2 -100 -276.0 276.0
D102 D302 44 N= 46 420 14.0 -14.0 K3 K203 44 N-1 +Q -100 -276.0 276.0
F102 F302 44 S= 46 420 14.0 -14.0 03 0203 44 N-1 *+Q -100 -276.0 276.0
H102 H302 44 S= 46 420 14.0 -14.0 T101 T301 44 S-1 v3 -100 -276.0 276.0
J102 J302 44 S= vA 420 14.0 -14.0 R102 R302 44 N-1 A -100 -276.0 276.0
L102 L302 44 S= vA 420 14.0 -14.0 B103 B303 44 N-1 *+Q -100 -276.0 276.0
N102 N302 44 S= vA 420 14.0 -14.0 F103 F303 44 N-1 v3 -100 -276.0 276.0
P102 P302 44 S= vA 420 14.0 -14.0 H103 H303 44 S-1 A -100 -276.0 276.0
R102 R302 44 N= +6 420 14.0 -14.0 P103 P303 44 N-1 *+Q -100 -276.0 276.0
T102 T302 44 S= &7 420 14.0 -14.0 E1l E201 44 S-2 v4 -200 -403.0 403.0
D103 D303 44 S= *4 420 14.0 -14.0 S1 S201 3NS-2 v4 -200 -403.0 403.0
F103 F303 44 S= *2 420 14.0 -14.0 K2 K202 3N S-2 v4 -200 -403.0 403.0
J103 J303 44 S= »6 420 14.0 -14.0 G3 G203 54 N-2 v2 -200 -403.0 403.0
L103 L303 44 N= *4 420 14.0 -14.0 13 1203 44 N -2 +Q -200 -403.0 403.0
N103 N303 44 S= 46 420 14.0 -14.0 S3 S203 3NN -2 v3 -200 -403.0 403.0
P103 P303 44 S= vA 420 14.0 -14.0 N101 N301 3NS-2 v3 -200 -403.0 403.0
R103 R303 44 S= *4 420 14.0 -14.0 R101 R301 3N S-2 v4 -200 -403.0 403.0
T103 T303 44 N= *8 420 14.0 -14.0 B102 B302 3NN -2 aT -200 -403.0 403.0
M1 M201 1¢ S+3 46 130 -404.0 404.0 J102 J302 3NS-2 v3 -200 -403.0 403.0
B103 B303 54 S-1 *A -50 -588.0 588.0 T103 T303 3N N-2 v3 -200 -403.0 403.0
19 «53 Basta kontrakt 20 « K10842 Basta kontrakt
Syd v K106 3v V =-140 Vast vE10 44 N =620
ov ¢ EKn32 Alla ¢ E73
D974 & ¢ v & NT #1092 & ¢ v & NT
& E42 & KDKn8 N8 8 4 4 4 4ED53 49 N7 7 7 108
vE9432 v DKn87 S 88444 vD983 vKKn2 S7 7 7 108
+ 106 + D98 055987 +102 +D9854 O56 6 35
#K65 #Kn3 V559187 #543  #ED86 V566 35
410976 & Kn76
v5 v 7654
* K754 + KKn6
&#E1082 &KKn7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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Cc2 C202 4v O-2 *7 200 512.0 -512.0 R103 R303 34D N +1 *2 930 741.0 -741.0
El E201 4v V-1 a5 100 400.0 -400.0 T101 T301 3NDV -3 a2 800 679.0 -679.0
02 0202 4v V-1 45 100 400.0 -400.0 Q1 Q201 3v V-4 &T 400 299.0 -299.0
A3 A203 4y V-1 45 100 400.0 -400.0 M3  M203 3v V-4 *2 400 299.0 -299.0
E3 E203 4v V-1 *7 100 400.0 -400.0 T102 T302 3v V-4 vA 400 299.0 -299.0
G3 G203 4v V-1 *4 100 400.0 -400.0 C1 C201 3v O-3 +3 300 167.0 -167.0
03 0203 4v V-1 *4 100 400.0 -400.0 o1 0201 3v V-3 48 300 167.0 -167.0
Q3 Q203 4v V-1 *7 100 400.0 -400.0 K2 K202 3v V-3 a2 300 167.0 -167.0
S3 S203 4v V-1 &7 100 400.0 -400.0 Q2 Q202 3v O-3 a2 300 167.0 -167.0
B101 B301 4v V-1 *7 100 400.0 -400.0 B101 B301 3v V-3 a2 300 167.0 -167.0
D101 D301 4v V-1 a5 100 400.0 -400.0 F101 F301 3v V-3 a2 300 167.0 -167.0
L101 L301 4v V-1 *6 100 400.0 -400.0 B103 B303 3v V-3 &T 300 167.0 -167.0
T101 T301 4v O-1 T 100 400.0 -400.0 D103 D303 3v V-3 &T 300 167.0 -167.0
H102 H302 4v O-1 +5 100 400.0 -400.0 T103 T303 3# V-3 vA 300 167.0 -167.0
J102 J302 4v V-1 45 100 400.0 -400.0 Gl G201 2v V-2 *2 200 17.0 -17.0
R102 R302 4v O-1 *7 100 400.0 -400.0 A2 A202 3v V-2 a2 200 17.0 -17.0
J103 J303 4v V-1 a5 100 400.0 -400.0 M2  M202 3# V-2 vA 200 17.0 -17.0
L103 L303 4v V-1 45 100 400.0 -400.0 D101 D301 3v V-2 a2 200 17.0 -17.0
M2  M202 Pass 312.0 -312.0 H103 H303 3v V-2 a2 200 17.0 -17.0
N102 N302 Pass 312.0 -312.0 K3 K203 1IN S +3 *T 180 -27.0 27.0
T102 T302 Pass 312.0 -312.0 Al A201 24 N +2 +8 170 -37.0 37.0
E2 E202 3¢ N-1 +K -50 241.0 -241.0 M1 M201 24 N+2 +4 170 -37.0 37.0
P102 P302 INN-2 oK -100 201.0 -201.0 S1 S201 24 N +2 +3 170 -37.0 37.0
C1l C201 2v V+1 45 -140 141.0 -141.0 12 1202 24 N +2 +4 170 -37.0 37.0
K2 K202 3v V= 45 -140 141.0 -141.0 E3 E203 24 N +2 +8 170 -37.0 37.0
K3 K203 3v V= a5 -140 141.0 -141.0 I3 1203 24 N +2 49 170 -37.0 37.0
F102 F302 3v V= 45 -140 141.0 -141.0 H101 H301 24 N +2 +4 170 -37.0 37.0
K1 K201 3v V +1 45 -170 108.0 -108.0 L101 L301 24 N+2 +4 170 -37.0 37.0
o1 0201 2v O +2 T -170 108.0 -108.0 P101 P301 24 N +2 +4 170 -37.0 37.0
Q1 Q201 2v V +2 45 -170 108.0 -108.0 R101 R301 24 N +2 v2 170 -37.0 37.0
Q2 Q202 3v O +1 45 -170 108.0 -108.0 H102 H302 24 N +2 +4 170 -37.0 37.0
N101 N301 3v V+1 a5 -170 108.0 -108.0 J102 J302 24 N +2 2 170 -37.0 37.0
R101 R301 3v V+1 45 -170 108.0 -108.0 L102 L302 24 N+2 +4 170 -37.0 37.0
B103 B303 3v V+1 45 -170 108.0 -108.0 P102 P302 24 N +2 +8 170 -37.0 37.0
Al A201 4y V= a5 -620 -385.0 385.0 F103 F303 34 N +1 49 170 -37.0 37.0
Gl G201 4v V= 45 -620 -385.0 385.0 J103 J303 24 N+2 2 170 -37.0 37.0
11 1201 4y V= 45 -620 -385.0 385.0 N103 N303 24 N +2 *2 170 -37.0 37.0
M1  M201 4v V= a5 -620 -385.0 385.0 E2 E202 INS+2 *T 150 -80.0 80.0
S1 S201 4v V= 43 -620 -385.0 385.0 P103 P303 INS +2 v3 150 -80.0 80.0
A2 A202 4y O= v3 -620 -385.0 385.0 11 1201 24 N+1 +4 140 -82.0 82.0
G2 G202 4v V= a5 -620 -385.0 385.0 G2 G202 24 N +1 *4 140 -82.0 82.0
12 1202 4v V= 45 -620 -385.0 385.0 02 0202 24 N+1 +4 140 -82.0 82.0
S2 S202 4v V= 45 -620 -385.0 385.0 S2 S202 24 N+1 +8 140 -82.0 82.0
C3 C203 4y V= 46 -620 -385.0 385.0 03 0203 24 N +1 +5 140 -82.0 82.0
13 1203 4v V= 45 -620 -385.0 385.0 J101 J301 24 N+1 +8 140 -82.0 82.0
M3  M203 4v V= 45 -620 -385.0 385.0 B102 B302 24 N+1 vK 140 -82.0 82.0
F101 F301 4v V= 48 -620 -385.0 385.0 N102 N302 24 N +1 +5 140 -82.0 82.0
H101 H301 4v V= 45 -620 -385.0 385.0 R102 R302 24 N +1 +8 140 -82.0 82.0
J101 J301 4y V= 45 -620 -385.0 385.0 L103 L303 34 N= +8 140 -82.0 82.0
P101 P301 4v V= a5 -620 -385.0 385.0 C2 C202 INS+1 v3 120 -131.0 131.0
B102 B302 4v V= 45 -620 -385.0 385.0 F102 F302 INS+1 v8 120 -131.0 131.0
D102 D302 4v V= 45 -620 -385.0 385.0 G3 G203 24 N= 49 110 -140.0 140.0
L102 L302 4v V= a5 -620 -385.0 385.0 Q3 Q203 24 N= +4 110 -140.0 140.0
D103 D303 4v V= 45 -620 -385.0 385.0 N101 N301 24 N= vK 110 -140.0 140.0
F103 F303 4v V= 45 -620 -385.0 385.0 K1 K201 3v V-1 a2 100 -145.0 145.0
H103 H303 4v V= a5 -620 -385.0 385.0 C3 C203 3v V-1 a2 100 -145.0 145.0
N103 N303 4v V= 45 -620 -385.0 385.0 D102 D302 INS= v8 90 -159.0 159.0
P103 P303 4y V= 43 -620 -385.0 385.0 A3 A203 Pass -298.0 298.0
R103 R303 4v V= a5 -620 -385.0 385.0 El E201 INS-1 v8 -100 -420.0 420.0
T103 T303 4v V= 45 -620 -385.0 385.0 S3 S203 34 N-1 v2 -100 -420.0 420.0
21 « E107 Basta kontrakt 22 4« DKn97 Basta kontrakt
Nord v Kn8762 ANT N =630 Ost v Kn108 4¢ SD-3-500
NS +53 ov ¢ Kn1094
#E95 & ¢ v & NT «D3 & ¢ v aN
4K943 4652 N 118 7 8 10 # 853 ~E64 N57 364
v1043  vEKD95 S 118 7 8 9 vEKD52 v963 S57 36 4
¢ KKn98 ¢ D76 015653 + K63 + 87 086 979
*87 *Kn4 V146253 *94 *EK876 V86979
« DKn8 K102
v- v74
¢ E1042 ¢ ED52
#KD10632 #Kn1052
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
03 0203 5#D S +1 v3 950 688.0 -688.0 Al A201 4y V-2 +Q 200 586.0 -586.0
11 1201 3vDO -4 &K 800 592.0 -592.0 B101 B301 4y V-2 *Q 200 586.0 -586.0
K2 K202 5#D S = v3 750 547.0 -547.0 C1l C201 4v V-1 *J 100 493.0 -493.0
S1 S201 3NN +1 +3 630 436.0 -436.0 E2 E202 4v V-1 +Q 100 493.0 -493.0
P101 P301 3NN +1 vK 630 436.0 -436.0 K2 K202 3# O-1 a2 100 493.0 -493.0
F103 F303 3NN +1 vA 630 436.0 -436.0 C3 C203 4v O-1 v7 100 493.0 -493.0
El E201 5& S +1 v3 620 429.0 -429.0 I3 1203 4v V-1 v8 100 493.0 -493.0
C2 C202 5# S +1 v3 620 429.0 -429.0 H101 H301 3NO-1 v7 100 493.0 -493.0
R101 R301 5# S +1 v3 620 429.0 -429.0 B102 B302 4v V-1 *J 100 493.0 -493.0
H102 H302 5# S +1 v3 620 429.0 -429.0 N102 N302 4v V-1 +J 100 493.0 -493.0
Ql Q201 54 S= v4 600 415.0 -415.0 R102 R302 4v O-1 «Q 100 493.0 -493.0
M2  M202 5& S = *8 600 415.0 -415.0 T102 T302 4v V-1 vJ] 100 493.0 -493.0
B102 B302 3NN= vK 600 415.0 -415.0 P102 P302 2¢ S-1 vA -50 357.0 -357.0
J103 J303 5& S = v3 600 415.0 -415.0 N101 N301 2N O = &T -120 304.0 -304.0
C1l C201 3vDO-3 +K 500 291.0 -291.0 o1 0201 3v V= +Q -140 263.0 -263.0
F101 F301 3vDO-3 *K 500 291.0 -291.0 Q3 Q203 3v V= +J -140 263.0 -263.0
Jio1 J301 3vDO-3 &K 500 291.0 -291.0 L101 L301 3v O= *J -140 263.0 -263.0
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Q2 Q202 INO-4 *Q 200 -90.0 90.0 H103 H303 3v O= v2 -140 263.0 -263.0
J102 J302 3& S +4 v3 190 -112.0 112.0 Q1 Q201 3v V+1 +J -170 232.0 -232.0
N101 N301 INS+3 46 180 -135.0 135.0 Q2 Q202 3v O+1 *J -170 232.0 -232.0
P102 P302 2N S +2 Ly 180 -135.0 135.0 K3 K203 3v V +1 +J -170 232.0 -232.0

Al A201 3# S +3 v3 170 -144.0 144.0 03 0203 3v V+1 *Q -170 232.0 -232.0

M1 M201 3# S +3 v2 170 -144.0 144.0 D101 D301 3v V+1 4Q -170 232.0 -232.0

E2 E202 4# S +2 v3 170 -144.0 144.0 F101 F301 34 V+1 2 -170 232.0 -232.0

G2 G202 2% S +4 43 170 -144.0 144.0 B103 B303 3v V +1 +J -170 232.0 -232.0

02 0202 3% S +3 a4 170 -144.0 144.0 F103 F303 3v V+1 +J -170 232.0 -232.0

S2 S202 3% N +3 v3 170 -144.0 144.0 P103 P303 3v V +1 *T -170 232.0 -232.0

K3 K203 3# S +3 v3 170 -144.0 144.0 Cc2 C202 4¢DN-3 *A -500 -162.0 162.0

M3 M203 3# S +3 v3 170 -144.0 144.0 R101 R301 3NO= v7 -600 -263.0 263.0

Q3 Q203 3# S +3 v3 170 -144.0 144.0 H102 H302 3NO= +5 -600 -263.0 263.0
D101 D301 2# N +4 +6 170 -144.0 144.0 El E201 4v V= +J -620 -295.0 295.0
H101 H301 3# S +3 v3 170 -144.0 144.0 G1 G201 4v V= *J -620 -295.0 295.0
L101 L301 3# S +3 vT 170 -144.0 144.0 11 1201 4v V= +J -620 -295.0 295.0
T101 T301 3#S+3 v3 170 -144.0 144.0 S1 S201 4y O= *] -620 -295.0 295.0
N102 N302 3# S +3 vT 170 -144.0 144.0 A2 A202 4y V= +Q -620 -295.0 295.0
R102 R302 3# N +3 v6 170 -144.0 144.0 G2 G202 4v V= 2Q -620 -295.0 295.0
D103 D303 3# S +3 v3 170 -144.0 144.0 12 1202 4% V = +J -620 -295.0 295.0
P103 P303 3# S +3 v3 170 -144.0 144.0 M2 M202 4y V= v8 -620 -295.0 295.0

Gl G201 44 S +1 v3 150 -181.0 181.0 S2 S202 4v V= *J -620 -295.0 295.0

K1 K201 3v O-3 &K 150 -181.0 181.0 A3 A203 4v V= 2 -620 -295.0 295.0

o1 0201 3% S +2 v3 150 -181.0 181.0 E3 E203 4v V= *J -620 -295.0 295.0

12 1202 3& S +2 *7 150 -181.0 181.0 M3 M203 4v V= +J -620 -295.0 295.0

A3 A203 3& S +2 v2 150 -181.0 181.0 S3 S203 4v V= 40 -620 -295.0 295.0

C3 C203 3# S +2 »7 150 -181.0 181.0 J101 J301 4y V= *Q -620 -295.0 295.0

G3 G203 44 S +1 v3 150 -181.0 181.0 P101 P301 4v V= +J -620 -295.0 295.0

13 1203 4# S +1 v3 150 -181.0 181.0 T101 T301 4v V= +J -620 -295.0 295.0

S3 S203 3v O-3 *K 150 -181.0 181.0 D102 D302 4v V= *J -620 -295.0 295.0
B101 B301 3# S +2 *7 150 -181.0 181.0 F102 F302 4v O= v4 -620 -295.0 295.0
D102 D302 INO-3 *K 150 -181.0 181.0 J102 J302 4v V= 4 Q -620 -295.0 295.0
F102 F302 3# S +2 a4 150 -181.0 181.0 J103 J303 4v V= s -620 -295.0 295.0
L102 L302 4# S +1 vT 150 -181.0 181.0 N103 N303 4v O= 2 Q -620 -295.0 295.0
T102 T302 2v O-3 &K 150 -181.0 181.0 R103 R303 4v V= 4Q -620 -295.0 295.0
B103 B303 3# S +2 vT 150 -181.0 181.0 T103 T303 4v V= +Q -620 -295.0 295.0
H103 H303 3v O-3 *K 150 -181.0 181.0 K1 K201 3N O +1 v7 -630 -296.0 296.0

A2 A202 3& S +1 v2 130 -212.0 212.0 M1 M201 4y O +1 *] -650 -343.0 343.0
N103 N303 4# S= v2 130 -212.0 212.0 02 0202 4v O +1 *J -650 -343.0 343.0
R103 R303 2v O-2 &K 100 -259.0 259.0 G3 G203 4v O +1 &T -650 -343.0 343.0
T103 T303 2v O-2 &K 100 -259.0 259.0 L102 L302 4y O +1 *] -650 -343.0 343.0

E3 E203 14 O-1 &K 50 -313.0 313.0 D103 D303 3N O +2 *J -660 -343.0 343.0
L103 L303 2v O-1 &K 50 -313.0 313.0 L103 L303 3N O +4 *4 -720 -419.0 419.0

23 « D87 Bésta kontrakt 24 « K4 Bésta kontrakt
Syd v K863 2NTV =-120 Vast v 96 3¢ N =110
Alla *7 Ingen ¢ KKn73
#KD753 & ¢ v &N #DKn953 & ¢ v & NT
aKn9 &K63 N6 4885 « D92 10753 N9 956 6
v9754 vE S6 4885 vE10742 vKKn53 S9 956 6
¢ 8642 ¢ EKDKn10 079447 ¢ 1042 + E86 044777
#E64 #Knl082 V794438 *72 »E8 V44777
« E10542 « EKn86
v DKn102 vD8
4953 ¢ D95
&9 £K1064
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng

El E201 5¢ O-2 *9 200 306.0 -306.0 12 1202 3# N +1 a5 130 195.0 -195.0

C3 C203 2N O -2 vQ 200 306.0 -306.0 T102 T302 3# S +1 a2 130 195.0 -195.0

S3 S203 5¢D O-1 *9 200 306.0 -306.0 Al A201 3#S-= vA 110 155.0 -155.0
F101 F301 3N O -2 vQ 200 306.0 -306.0 K1 K201 3# N = v5 110 155.0 -155.0
T101 T301 5¢ O-2 *9 200 306.0 -306.0 Q1 Q201 3 N-= v3 110 155.0 -155.0
R102 R302 3N O -2 vQ 200 306.0 -306.0 M2 M202 3# N = v5 110 155.0 -155.0
N103 N303 24 N +1 v3 140 205.0 -205.0 A3 A203 2# N +1 a4 110 155.0 -155.0

Al A201 2v S= *4 110 162.0 -162.0 S3 S203 3% N = v5 110 155.0 -155.0
P101 P301 2v N= + K 110 162.0 -162.0 H101 H301 3# N= v5 110 155.0 -155.0
H102 H302 2v S= +4 110 162.0 -162.0 J101 J301 3& N= v5 110 155.0 -155.0
P102 P302 24 S = *4 110 162.0 -162.0 L101 L301 3& N= v5 110 155.0 -155.0
T103 T303 24 N= +3 110 162.0 -162.0 P101 P301 3& S = a2 110 155.0 -155.0

11 1201 2N O-1 vQ 100 156.0 -156.0 R101 R301 3# N= v5 110 155.0 -155.0

o1 0201 4¢ V-1 v6 100 156.0 -156.0 T101 T301 3& N= v5 110 155.0 -155.0

Q1 Q201 3NO-1 a2 100 156.0 -156.0 L102 L302 3& S = a2 110 155.0 -155.0

S1 S201 4¢ O-1 vQ 100 156.0 -156.0 R102 R302 3# N = »7 110 155.0 -155.0

A2 A202 3N O-1 vQ 100 156.0 -156.0 J103 J303 3& S = 3 110 155.0 -155.0

Cc2 C202 5¢ O-1 vQ 100 156.0 -156.0 C1 C201 3v O-2 *6 100 148.0 -148.0

E2 E202 5¢ O-1 *9 100 156.0 -156.0 11 1201 3v V-2 &K 100 148.0 -148.0

K2 K202 3NO-1 a2 100 156.0 -156.0 I3 1203 3v V-2 s K 100 148.0 -148.0

M2 M202 3NV-1 v3 100 156.0 -156.0 B102 B302 3v V-2 s K 100 148.0 -148.0

02 0202 4¢ O-1 vQ 100 156.0 -156.0 F103 F303 3v V-2 *Q 100 148.0 -148.0

S2 S202 4¢ O-1 *9 100 156.0 -156.0 S1 S201 2v O-1 6 50 55.0 -55.0

13 1203 3NO-1 vQ 100 156.0 -156.0 02 0202 2v O-1 *6 50 55.0 -55.0

K3 K203 4¢ O-1 vQ 100 156.0 -156.0 S2 S202 3v O-1 *3 50 55.0 -55.0

03 0203 2NO-1 vJ] 100 156.0 -156.0 E3 E203 3v O-1 +5 50 55.0 -55.0
J101 J301 3NO-1 a2 100 156.0 -156.0 Q3 Q203 3v V-1 *Q 50 55.0 -55.0
L102 L302 2N O-1 vQ 100 156.0 -156.0 N101 N301 3v V-1 *Q 50 55.0 -55.0
B103 B303 4¢ O-1 vQ 100 156.0 -156.0 D102 D302 24 O-1 vQ 50 55.0 -55.0
J103 J303 3¢ O-1 vQ 100 156.0 -156.0 J102 J302 3v V-1 *Q 50 55.0 -55.0
L103 L303 5¢ O-1 &K 100 156.0 -156.0 N102 N302 3v V-1 *Q 50 55.0 -55.0

K1 K201 34 S-1 v5 -100 -131.0 131.0 D103 D303 3v V-1 *Q 50 55.0 -55.0
B101 B301 24 S-1 +5 -100 -131.0 131.0 N103 N303 4# V-1 v3 50 55.0 -55.0

12 1202 3¢ O= *9 -110 -149.0 149.0 P103 P303 3v V-1 *] 50 55.0 -55.0
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